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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1.

girerel wEYey T YR 9 W A e fae |

Candidate must write first his / her Roll No. on the question
paper compulsorily.

gt ge7 e AfEE ¥

All the questions are compulsory.

I T 1 IR o T IW-YIaw | g1 o )

Write the answer to each question in the given answer-book
only.

59 w1 & U 9 Afus Tum oiF gy 9 §, 39 9 9 ' U
el Haq_ ferd |

For questions having more than one part carrying similar marks,
the answers of those parts are to be written together in
continuity.

AT IW-GAEH & T=1 & ol o fafew | Ak ¢ 6 =@ w9,
@ Sw-git & i g=i W Y o 5% fst ol ¥ e 31 W
‘wEd faa g )

Write on both sides of the pages of your answer-book. If any
rough work is to be done, do it on last pages of the answer-book
and cross with slant lines and write ‘Rough Work’ on them.
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6. U FHIF 259 26H =h fahey T |

There are internal choices in Question Nos. 25 and 26.
7. U HHF 29 70F G THOIHR T E |

Question Nos. 2 to 7 are Very Short Answer type.

8. WY HHH 1F =R UM (1, ii, iii, iv ) ¥ 3R g9% 9 H =R famweq
A, B, C 3R D fau mu € | wel swuer swm-gfe # freman @i
T FRLE

There are four parts ( i, ii, iii, iv ) in Question No. 1. Each part
has four alternatives A, B, C and D. Write the letter of the
correct alternative in the answer-book at a place by making a
table as mentioned below :

Uy shiish Wel ST il ThuTed
Question No. | Correct letter of
the Answer
1. (i)
1. (1i)
1. (1id)
1. {(iv)

1. () U 9a=R 9q4s IR & A9 a9%a ¥ 59F € 3 U g1 euR |
feoa ¥ 1 af oA 9ge &1 S=E 6 T B, @ s w1 S e

(A)  129H (B) 69
() 49 (D)  39H |

The area of a parallelogram and a triangle are equal and their
base is common. If altitude of parallelogram is 6 cm, then

altitude of triangle will be

(A 12 cm (B) 6 cm
) 4cm (D) 3 cm.

N —~
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i fea ¥ 99 FFK OF 99 £ POR = 140° %!, @2 PQRF HH &M

Q
{A) 40° (B) 100°
c 110° (D) 220°.

Int figure, O is the centre of the circle and £ POR = 140°, then
the value of £ PQR will be

&

Q

(A) 40° (B) 100°

() 110° (D) 220°,
() T AEFT H FE 16 AW T | TR SABA B

@ 8xai gt B) 16 a3 |t

(C} 32 r & wE (D) 64 g qE g

Diameter of a semicircle is 16 c¢cm., Its area will be

(A) 8 msq.cm (B) 16 1t sq.cm

(@) 32 nsq.cm. (D) 64 © sq.cm.
(iv) ?’Iﬁ’cosezg g, d 0% UM T

) 90° B) 60°

{C) 4b° (D) 30°.

V3

If cos 8 = 5 then the value of & will be

Ay 90° (B) 60°

(C} 45° (D) 30°.
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2. UH G I ol A IUF kvl i sl 1 S Jd Sy |

Find the ratio of the lengths a side and a diagonal of a square. %
3. JU% T g gu@vs ¥ fem =i o ey fafae |
Write the relation between angles in the same segment of a circle,
4., TF g9 W Uy 220 HeX ¥ | 3T v g i [n=272 J
Circumference of a circle is 220 metres. Find its radius. [ = 272 J
1
)

5. ?&cot@:%g‘r,ﬁrsineaﬂﬂmmm|

-\!
If cot 8 = L , then find the value of sin 6.
\V3
6. —0 &) weemw ww # fafey |
V1 +cot26

cot O

\11+cot26.

7. 2 sin 45° . cos 45° 1 WA F1T ST |

Write the simplified form of

Find the value of 2 sin 45° . cos 45°.

8. <1 wfa=sdl e el ¥ wuH gt W fd fag =1 faguy fafeg |

Write the locus of a point equidistant from two intersecting straight

lines. 1
9. 13 YH o 9l g9 & %% §, 59H g frud Sfian it awetg w9 Fifeg |

Find the length of a chord which is at a distance 5 cm from the centre

of circle of radius 13 cm. 1
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10. 99 ¥, 99 %1 =9 PQ® 3R £ SPQ = 40° €1 & ~ PRSI WM 7@ FIfemw |
S

40°

=
&'t
©

In figure, PQ is diameter of the circle and £ SPQ = 40°. Then find the

value of £ PRS. 1

40°

6
¢
o

©

11, =Rt SRS % WEE S w F6 F A 3 F T I, gE h 2 E
Find the opposite angles of a cyclic quadrilateral, if one of them is % of

the other. 1

12. 4fe g fagall (x, 3) 91 (5, 7) & o9 &1 g V17 €1, & xH qA 94
HIfST |

If the distance between two points { x, 3) and (5, 7) is V17, then

find the value of x. 1
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13. fogg =IWT ; sin 65° + cos 25° = 2 sin 65°,

Prove that sin 65° + cos 25° = 2 sin 65°.

14, fag =iV .
1
4 cot? 45° — sec? 45° + sin 2 30° = 1
Prove that 4 cot? 45° — sec? 45° + sin 2 30° =i

15. fo ¥, oo BCH o= g9 ADE, @ fag wifae :

Z ABP = £ ACP.

In figure, AD is the right bisector of side BC, then prove that
£ ABP = £ ACP.
A
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16. fag =ifau f& fedt aqds =1 wama qenst & 9e3-fagedi & faam 9 ==
g T FHRR =g B |

Prove that the quadrilateral formed by joining the mid-points of the

adjacent sides of a quadrilateral is a parallelogram. 2

17. TH 99 &1 o Sl ABY ACUER ¢ | f9g #ife fF 99 &1 %5 £ BAC#H
TGS W BN |

Two chords AB and AC of a circle are equal. Prove that the centre of

the circle lies on the bisector of ~ BAC. 2

18. 9 &7 T WRUN H £ WS ATH 9 &3 h1 oA o 99Ed 97 & i MOl
FHIfST .

Tt
e DT .
80 Cd%F 54
EdF 32 50
40 B 26

e A¥ IW =l 3R

With the help of the measurements of the table given below, prepare a
rough diagram of the field and calculate the area. 2

Metre
e UpteD
80 54 towards C
32 towards E 50
40 26 towards B

e FromA
towards north
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19.

20.

21,

22,

23.

10-5 9T =1 % 990 9 *1e T -wve & F0 45°F | -wve & ="
i T AR A% J1d HIAT |

A sector is cut from a circle of radius 10-5 cm such that angle of the
sector is 45°. Find the length of the arc and area of the sector. 2

TF FY T AR, ASE 9 SHaE wEw: 9 WHt, 69Ht o 49w ¥ 1 @
TRt T =7 B S ST § 1Y v 6 9l g 9 Fife |
The length, breadth and height of a cuboid are 9 em, 6 cm and 4 cm

respectively. It is melted to form a new cube. Find the total surface
area of the new cube, 2
| Fifee fF e x+y =45 (-1, 1) 3R (5, 7) = fgam s
e &l g o1 | fawtea saf |

Find in what ratio the line x + y = 4 divides the line segment joining

the points (-1, 1 )and (5, 7). 2
sin © 1+cos®@

ﬁwm"aq. 1+cosf)+ Sin © = 2 cosec 0.

Prove that sin 8 1+cos® = 2 cosec 0. 2

1+cos® " sino
o #, w fad, & ens W, SE e w1 vig W ¥ a9 € | veEsR
G & YR T A 6 Wt AR FEE 499 | fae w1 o a9 9
HIfST |

4 g4t

6 HH
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In figure, a toy is in the form of a cone mounted on a hemisphere with
the same radius. The diameter of the base of the conical portion is
6 cm and its height is 4 cm. Find the surface area of the toy. 3

&
(: 6 cm :)

24. UH oAl w9ad W, e HAR #1 27X Sd 3¢ U TE W @ § & JAR %
YIS T SHEF B0 30° % | AR % UIE Hi 3 50 WX 3R Fed W, I
IV 45° 9Tl gl ¥ | quiEd foF R w1 SeE 25 (V3 + 1) W d
A person from a point on the level ground observes, the angle of
elevation of the top of a tower as 30°. He walks 50 metres towards
the foot of the tower along level ground and finds the angle of
elevation of the top of tower as 45°, Show that the height of tower is
25 (\ES + 1 ) metres. 3

25. fei faa §, PAB U 99 & 9¢& @ €, W 99 &l Ad BT Yfa=sg &Ll ¥,
du fog T PT W 99 @ ¢ | fog #ifSw PA . PB = PT2.

& aN__B

YT
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fo #, w99, Y9 ABC &1 o1 BC &1 PW W% %l § 991 ABS ACH!
TG 9H W HAY: QF RT T HAA © |

fag FfT AQ = —21- (A ABC &1 9 ),
Q

B
/

C
R

In figure, PAB is a secant of a circle intersecting the circle at A and B.
PT is a tangent at point T. Prove that PA . PB = PT2, 3

OR

In figure, a circle touches the side BC of triangle ABC at P and
touches AB and AC produced at Q and R respectively. Prove that

AQ = % ( perimeter of A ABC). 3

Q

%
A

C
R

B
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26. Y ABC &1 @ *ifee 989 41 BC = 5.4 9" §, £ B = 60° a4T

Z C=75° B | 3H% 3T<1:gd ] AT It a1 =1 & 92 off fafam |
3TeaT

Fqs PQR &1 =1 &ifau fo9d8 <1 QR = 4.2 9H1, £ P = 55° 491
Z Q =65°% |39 fAaqs & uftrd g9 &1 = HifSe 9on A & U
fafam |

Construct a triangle ABC, in which side BC = 54 cm, £ B = 60° and
£ C = 75° Draw incircle of the constructed triangle and also write the

steps of construction. 3
OR

Construct a triangle PQR in which side QR = 4.2 cm, £ P = 55° and
Z @ = 65° Draw its circumcircle and also write the steps of

construction. 3
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